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b Im 4 15.(Cont’d)
"
*a In Figure 8a, ABCD is a thin square metal sheet of side three metres.
\xx The metal sheet is folded along BD and the edges AD and CD of the
o folded metal sheet are placed on a horizontal plane IT with B two metres
e vertically above the plane IT. E is the foot of the perpendicular from B
Im hxh to the plane II . (See Figure 8b)
(a)  Find the lengths of BD , ED and AE , leaving your answers in
b . surd form.
hi {3 marks)
"
A
x (b) Find ZADE .
A & (3 marks)
Figure 8a (c)  Find the angle between BD and the plane IT .

{2 marks)

B (d)  Find the angle between the planes ABD and CBD .
(4 marks)
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